
Problem 1: (I-09-34)

The angle θ depends on time

So, the angle θ(t=0.2 s) is reduced from the initial value, but is still positive.
At the top of the track it is 0, and then turns negative after that

Problem 2: (I-09-50)

conservation of momentum

You slip on the ice in opposite direction to the ball

Problem 3: (I-10-62)

a) When sanding ω decreases by 20%

b) How large is the change in the kinetic energy from 

--> decreased by 64%



Problem 4: (I-10-68)

I use the energy conservation, as both the torque and the angular acceleration
are not constant.

conservation of the energy

Problem 5: (I-11-40) Thus we will always have the same angularmomentum for the system, independent
of the choice we make for the reference point O



Problem 6: (I-11-50)

We need at least gravity to supply

So. minimum angular frequency

Energy conservation


